BRIDGE CALCULATIONS FOR THE BEST SUCCESS

1. Find your B# (strength) by using the Force Point Counting:

Singleton Ace = 2 pts = (Ace + Singleton = 1.5 + 0.5)

Ace = 1.5

King = 1.0

Queen = 0.5

Any Singleton including King & Queen (except the Singleton Ace) = 0.5

Void = 0.5

For Ax + Ax  or  xx + xx  add 0.5 (count the Aces separately)

For 7+ card long suit: 

with 7 cards add 0.5

with 8 cards add 1.0,  

with 9 cards add 1.5 and so on … or use the Formula: 

0.5*(n - 6) where “n” = number of the cards in the long suit

For 6+/5+ bi-colors

For 6/5 bi-color add 0.5

for 6/6 or 7/5 bi-colors add 1.0

for 6/5 bi-color add 0.5 and so on … or use the Formula:

0.5 (m – 10) where “m” = number of the cards in the both bi-color suit

Adjustments by the time of the Bidding:

Positive:

 - For the 2 Controls in 5 by 2 side suit (not the Trump) add 0.5

 - For the 3 TOP Honors in 5 by 2+ side suit (not the Trump) add 1.0

 - For a ”good” Void or Singleton add 1.0 (Void or Singleton opposite an empty suit or when Opponent(s) bid your Singleton or Void)

NOTE:  If you upgrade your B#, for example because of ”good” Singleton or Void, repeat the Validation of your B# and if the requirement is not fulfilled, lower your B# with 0.5 or 1.0 and check the validation again !!

Negative:

 - For a ”bad” Void or Singleton subtract 0.5 (Void or Singleton opposite a King)

2.  Make the Validation of your B# by using the appropriate Formula for CP requirements in conjunction with B# (strength) in dependence of the length of the Basic suit 

With up to 6 card suit, no Void:  CP > 4*B#

With up to 6 card suit + Void  /  7 card suit, no Void, no 2 Singletons:  

CP >= 4*B#

With 7 card suit + Void / 2 Singletons / 8 card suit, no Void, no 2 Singletons:  CP >= 4*B# - 2

With 8 card suit + Void  /  2 Singletons:  CP >= 4*B# - 4

NOTE:  If you upgraded your B#, for example because of ”good” Singleton or Void, repeat the Validation of your B#

3. With 5+ card suit use SCOR – SCOR Convention to find your exact shape

NOTE: Learn to discover the side suits! They can be:


0 by 0 (with 9, 10, 11 card suits)


1 by 1 (with 7, 9, 11 card suits)


2 by 2 (with 5, 6 or 9 card suits)

3 by 2 (with 7 or 8 card suits)

3 by 3 (with 5, 6, 7 card suits)

3 by 4 (with 5, 6 card suits)

4 by 4 (with 5 card suit)

Usually there is not ONLY 1 Singleton in the side suits.

Exceptions:


3 by 1 (with 9 card suit)


2 by 1 (with 10 card suit)

4. If your partner asks you for your Controls use the appropriate Formula to show them:

With up to 6 card suit, no Void:  Main Formula: CP = 4*B# + 2

 - For the 1st step answer:

CP = 4*B# + 2 along with 3 Equivalent Queens (EQ)

- For the 2nd step answer:

CP = 4*B# + 4 along with 2 EQ

- For the 3rd step answer:

CP = 4*B# + 6 along with 1 EQ

- For the 4th step answer;

CP = 4*B# + 8, no EQ

With up to 6 card suit + Void  /  7 card suit, no Void, no 2 Singletons:  Main Formula: CP = 4*B#

- For the 1st step answer:

CP = 4*B# along with 4 EQ

- For the 2nd step answer:

CP = 4*B# + 2 along with 3 EQ

- For the 3rd step answer:

CP = 4*B# + 4 along with 2 EQ

- For the 4th step answer:
CP = 4*B# + 6 along with 1 EQ

With 7 card suit + Void / 2 Singletons / 8 card suit, no Void, no 2 Singletons:  Main Formula: CP = 4*B# - 2

- For the 1st step answer:

CP = 4*B# - 2 along with 5 EQ

- For the 2nd step answer:

CP = 4*B# along with 4 EQ

- For the 3rd step answer:

CP = 4*B# + 2 along with 3 EQ

- For the 4th step answer:
CP = 4*B# + 4 along with 2 EQ

- For the 5th step answer;

CP = 4*B# + 6 along with 1 EQ

With 8 card suit + Void  /  2 Singletons:  Main Formula: CP = 4*B# - 4

- For the 1st step answer:

CP = 4*B# - 4 along with 6 EQ

- For the 2nd step answer:

CP = 4*B# - 2 along with 5 EQ

- For the 3rd step answer:

CP = 4*B# along with 4 EQ

- For the 4th step answer:
CP = 4*B# + 2 along with 3 EQ

- For the 5th step answer;

CP = 4*B# + 4 along with 2 EQ

- For the 6th step answer;

CP = 4*B# + 4 along with 1 EQ

5. If your partner asks you directly for your Controls (before asking you for your exact B#) use the Formula to calculate it:

B# = any CP / 4 – 1, where any CP = real + pseudo CP

6. If you decide to investigate a SLAM you can ask your partner for the color of the TOP Honors. The answers are by SCOR and their priority are:


2 Kings


2 Queens


1 King + 1 Queen


1 King + 1 Ace


With 3 Kings or 3 Queens show naturally or semi-naturally the omitted suit (the suit where you do not have a TOP Honors)


2 Aces

                                                          ♠ ♥ ♦ ♣
